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(mm) yid a 13 (kg/cni)
0.5 8.0 8.0 8.00 67.65
1.0 150 | 150 | 15.00 126.85
1.5 220 220 | 22.00 186.05
20 250 | 250 | 25.00 211.42
2.5 28.0 29.0 | 28.50 241.02
3.0 33.0 340 | 33.50 283.30
5.0 45.0 46.0 | 45.50 384.79
1.5 520 53.0 | 52.50 443.99
10.0 62.0 63.0 | 62.50 528.56
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40.0 555.0 555.0 0 0 100.00
375 542.7 542.7 0.0 0.00 100.00
31.5 528.2 528.2 0.0 0.00 100.00
19.0 545.5 545.4 0.1 0.01 99.99
13.2 660.1 574.4 85.7 6.74 93.25
9.5 712.2 543.8 168.4 13.25 80.00
6.7 645.9 479.5 166.4 13.09 66.92
4.75 671.6 529.4 142.2 11.19 55.73
2.36 785.4 491.2 294.2 23.14 32.59
1.180 761.9 465.4 296.5 23.32 9.27
0.425 463.3 351.7 111.6 8.78 0.49
0.075 316.9 310.7 6.2 0.49 0
0.0 348.2 348.2 0.0 0 0
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